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Qft:

Suppose, a programmer wants to write a C program which displays the digit (1 to 3) in words. The
variable i is used to store the digit given as input. If i =2 then the program displays “Two”. The
part of the program is written by the programmer is given below:

switch (i) {

case 1 : printf(“one”);
case 2 : printf(“two”);
case 3 : printf(“Three”);

}

Find out the mistake that the programmer made.
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switch (i) {

case 1 : printf(“one”);
case 2 : printf(“two”);
case 3 : printf(“Three”);

}
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Q2:

The main block of a C-program to calculate the sum of the first 10 natural numbers is given
below.



intn=10,i=1,s=0;
start:
S=S+i ;
i++ ;
if (i<=n)
goto start ;
else
gotoend ;
end:
printf( "Sum=%d" ;s );

Modify the program by replacing the goto statement by appropriate “while loop”.
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intn=10,i=1,s=0;
start:
S=S+i ;
i++;
if (i<=n)
goto start ;
else
gotoend ;
end:
printf( "Sum=%d" ,s );
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Q3:

The following if statement is unnecessarily complicated.

if (age >=13)
if (age <=19)
printf("Teenager\n") ;
else
printf("Not teenager\n") ;
else




if (age < 13)
printf("Not teenager\n") ;

Simplify it using one single if statement .
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if (age >=13)

if (age <=19)
printf("Teenager\n") ;

else
printf("Not teenager\n") ;

else

if (age < 13)

printf("Not teenager\n") ;
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Q4:

The main function of a C-program is given below.

intn=4,i=1,;
while(i<=n)

{
printf("Hello\n") ;
i++ ;
n++,

}

Determine the output of the above program.
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intn=4,i=1,;
while(i<=n)

{
printf("Hello\n") ;
i++;
n++;

}
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Q5:

Which header file contains the definition of printf and scanf functions?
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Qé6:
How many “for loop” is/are needed to store data in a two dimensional array ?
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Q7:

Determine the values of the variables s and i after executing the following C-code ?
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ints=0,1i;
for(1=0;1<=100;i++)
{ _

S=S+i;
}

Qs:

If x and y(= 0) are two integer variable in C-language, then what is the value of the expression
X—(x/y)*y?
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Qo:
A character array variable “subject” has been initialized by following C-instruction:
char subject[ ]="Mathmatics";

What is the size of the variable?
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char subject[ ]="Mathmatics";
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Q10:



The main function of a C-program is given below.

inti=1;

do{
printf (" Welcome\n ") ;
} while (i );

Determine the output of the above program?
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inti=1;

do{
printf (" Welcome\n ") ;
}while (i );
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Q11:

Given that 1 =1, ] = 2,k = 3 are three integer variables in C. Determine the value of the expression
(i<=PDINj>=kK) & &K >3)?
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Q12:

A for loop is given below to calculate factorial of 5 where the programmer has forgot to initialize
the variable fact.

inti, fact;
for(i=1;i<=5;i++)
fact = fact * i;

What is the final value of fact?
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inti, fact;
for(i=1;i<=5;i++)
fact = fact * i;
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Q13:

A programmer has written following statement to increment a variable x by 1 in C-language.
X =x+1;
Which of the following statement/s is/are false from the following?

i) The statement is legal if and only if x is an integer

ii) The statement is legal for any floating point value of x.

iii) The statement is illegal since it has same variable x in both sides of equality.
iv) The statement is legal for character type variable.
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X =Xx+1;
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Q14
What is the difference between ASCII value of letter ‘M’ and ASCII value of letter ‘m’?
‘M’ G332 ‘m’ NG AsCll TN HBA6 F9?

Q15:

What is the output of the following C-program?

int main()
{
floatx =2.5,y=8.7,a=4.1,b =6.11;
printf("%.1f"x + y == a + b);
return O;

}
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int main()

{

floatx =2.5,y=8.7,a=4.1,b =6.11;
printf("%.1f" x + y == a + b);
return O;

¥




Online Reference for learning C Language with examples:
1. Installation of compiler

https://www.youtube.com/watch?v=aS5 jribKmA

1. C-programming NPTEL

https://www.youtube.com/playlist?list=PLJvizs rP6R73WIvumJvCQJrOY3U5zq1j

2. Programming,Data structure and algorithm by prof balachandran of IIT madras-NPTEL Course

https://www.youtube.com/playlist?list=PLJ5C 6gdAvBEAOKAQ9IM5hZxYzOUplmkZQ
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